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a) The trend is that as the amount of precipitation increases, 
commuter's travel time increases too.

b) This trend may exist because as precipitation increases, visibility 
and speed will decrease leading to an increase in travel time.

a) b) The trend is that as the 
distance of the race 
increases, Anna­Marie's 
average speed decreases.

c) Draw a line of best fit and 
then from the x­axis draw a 
vertical line up the line of 
best fit. Once you reach the 
line of best fit draw a 
horizontal line across to the 
y­axis and read the value of 
the average speed.

Average speed for a 750 m race = 6.5 m/s
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a)

b) The trend is that as goals increase, assists also increase. It is a 
positive trend. However, there are two outliers [(32,31) and (35,30)].

b) The initial value is 32. This is 
the temperature in Fahrenheit 
when the temperature is zero 
degrees Celcius.

a)

c) The rate of change is 1.8 ­ 
meaning that for every increase of 
1ΟC there is an increase of 1.8ΟF.

d) 25ΟC is equal to 77ΟF

e)  F = 1.8C + 32

F = 1.8(25) + 32

F = 45 + 32

F = 77
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a)  F = 1.8C + 32

50 = 1.8C + 32

18 = 1.8C

18/1.8 = C

10 = C

b)

50ΟF = 10ΟC

a) Bias is present in this situation because the school council is only 
asking the football team if they should have a budget increase. This is 
an example of sampling bias.

b) One way to remove bias would be to ask the whole student body, 
not just the football team.
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People who usually call into radio shows have extreme points of view. 
Those who are neither here nor there on a topic don't bother to call in. 
This is an example of non­response bias. 

It is also an example of sampling bias because only those who listen to 
the radio show have the potential to respond. The listeners are unlikely 
to fairly represent the whole population.

a) Mean = Total ÷ # of Players

= 16 ÷ 10

= 1.6 metres

Median = 1.4, 1.4, 1.5, 1.5, 1.5, 1.5, 1.6, 1.8, 1.9, 1.9

   = 1.5 metres

Mode =  1.5 metres (occurs 4 times)

b) Outliers have a greater effect on the mean than the median or mode. 
7 of the 10 values are from 1.4 to 1.6. The other 3 are all larger so that 
is why, in this case, the mean is higher than the median and mode.

c)

z = (1.9 ­ 1.6)/0.1844

z = 1.626...

Note: This is a population, NOT 
a sample, because all members 
of the team are accounted for.
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a) Range = Max ­ Min

= 10 ­ 3

= 7

b) Median = Middle value (line inside the "box")

   = 7

c) IQR = Upper quartile ­ lower quartile (IQR = width of the "box")

  = 8 ­ 6

  = 2
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